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QUESTION 1

You have a 4-node cluster. You want to ensure that a NAS data LIF can only migrate to ports that are on its home node,
and its HA partner.

In this scenario, which failover policy would be configured?

A. sfo-partner-only

B. local-only

C. system-defined

D. broadcast-domain-wide

Correct Answer: C

Reference: https://www.google.com/url? sa=tandrct=jandq=andesrc=sandsource=webandcd=7andved=2ahUKEwigzre8
XY_nAhWYzzgGHVbFBg4QFjAGegQIBh ABandurl=ftp%3A%2F%2Fftp.aau.edu.et%2FTraining%2FAAU-Private-

Cloud%2FData_ONTAP %
2FNetwork%2520Management%2520Guide.pdfandusg=AOvVaw0Zay5aRX7V7yB2kkmY7hAS

QUESTION 2

Click the Exhibit button.

. AP TR,

sy

Node A Node B Node C Node D

Referring to the exhibit, if Node loses power, what are two nodes where epsilon would move? (Choose two.)
A. Node D

B. Node

C. Node A

D. Node C

Correct Answer: CD

QUESTION 3
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Click the Exhibit button.

clus::> lun igroup show

Vserver Igroup Protocol 03 Type Initiators

igc3I-svm R740-ESXi-01 iscsi vmware ign.1998-01.com.vmware:asxa
iSC8I-avm R740-ESXi-02 iscsi vmware ign.1998-01.com.vmware:esxb
i8CSI-svin R740-ESXi-03 isesi vmware ign.1998-0l.com.vmware:esxc

i8C8I-svm R740-ESXi-shared iscsi vmware ign.1998-01.com.vmware:esxb,
ign.1998-01.com.vmware:esxa,
ign.1998-01.com.vmware:eaxc

clus::> network interface show -vserver iSCSI-svm -data-protocol iscsi

Logical Status Network Current Current Is

Vaerver Interface Admin/Oper Addreas/Mask Node Port Home

i3C3I-svm
iscei-133-01 up/up 192.168.133.201/24 svm-01 ala=-133 crue
iscsi-133-02 up/up 192.168.133.202/24 awvm-02 ala-133 true
iscsi-134-01 up/up 192.168.134.201/24 awm-01 ala-134 true
iscsi=-134-02 up/up 192.168.134.202/249 svm-02 ala-134 true

clus::> vserver iscsi initiator show -fields vserver , tpgroup , initiator-name , igroup

Tpgroup Initiator
Vaerver Name Name Igroup Name

—— [ ————— o =

iSCSI-swvm iscsi-133-01 ign.1998-01.com.vmware:esxc R740-ESXi-03, R740-ESXi-shared
iSC8I-svm iscsi-133-02 ign.1998-0l1.com.vmware:esxc R740-ESXi-03, R740-ESXi-shared
iSC8I-svm iscai-133-02 ign.1998-0l.com.vmware:esxa R740-ESXi-shared, R740-ESXi-01
iSC8I-svm iscsi-134-01 ign.1998-01.com.vmware:esxc R740-ESXi-03, R740-E3Xi-shared
iSC8I-avm isc®:i-134-01 iqn.1998-01.com.vmware:eaxb R740-E3Xi-02, R740-E3Xi-shared
i9C3I-svm isc=:i-134-02 ign.1998-0l.com.vmware:eaxc R740-ESXi-03, R740-E3Xi-shared

You are preparing to upgrade and reboot your ONTAP cluster nodes. Before performing the upgrade, you review the
output shown in the exhibit.

Which troubleshooting step should be performed in this situation?
A. Disable iSCSI LIFs iscsi-133-01 and iscsi-133-02.

B. Enable ALUA in the svm-iSCSI SVM.

C. Review the iSCSI sessions from the iSCSI hosts.

D. Add missing iSCSI initiators to the R740-ESXi-shared igroup.

Correct Answer: D

QUESTION 4

During a maintenance window, the administrator attempts to take over node-01 from node-02. The
command failed, and the following message was displayed:

Error: command failed: Failed to initiate takeover. Reason: Node can\\'t see some of the partner\\'s disks.

What should the administrator do in this scenario?
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A. Look for missing nodes using the storage disk show -fields nodelist command.

B. Look for missing nodes using the storage aggregate show -fields node command.
C. Look for missing nodes using the storage failover show -fields node command.
D. Look for missing nodes using the storage pool show -fields node command.
Correct Answer: C

Reference: https://kb.netapp.com/app/answers/answer_view/a_id/1028772/~/troubleshooting-workflow% 3A-takeover-
not-possible-

QUESTION 5

Click the Exhibit button.

cluscerl::>» vserver cifs share show —-vserver CIFS

Vserver Share Path Properties Comment ACL

CIFs HR JHR oplocks - Everyone / Full Control
browsable
changenotity

show-previous-versions
1 entries were displayed.

clusterl::> volume show —fields security-style —volume HR
vserver  volume security-scyle

clusterl::*> vserver cifs options show —fields is-exportpolicy-enabled
VSeLVer is—exportpolicy—-enabled

CIFS false

clusterl::> vserver security file-directory show -vserver CIFS -path /payroll.xlsx -volume-name
HR

Vserver: CIF3
File Path: FHR/payroll.xlsx
Security Style: ntfs
Effective Stcyle: nrfs
ACLs: NTFS Security Descriptor

Control:0x8004
Owner:BUILTIN\Adninistrators
Group:BUILTIN\Administrators
DACL - ACEs
ALLOW-corp\max-0x1£01EE
AlLOW-corp\max-0x10000000-0T1CI| IO

The corp\eva user cannot access the payroll.xIsx file on the CIFS share that is called HR. The user is a member of the
corp\Domain Users group only.

Referring to the exhibit, what is the problem?

A. The user has no permission to access this share.
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B. The user has no NTFS permissions for that file.
C. The security style is not set correctly.
D. The export policy is disabled.

Correct Answer: A
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